Service Provider: Tigers Childcare - Enfield

Programme Year: 2024/2025

Status: Active

Fee Options

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
5 Full Days Care with 5 ECCE	1y - 12y	ELC/SAC	Yes	07:30	18:00			Yes	Meal, Nappies/Wipe s	Weekly Fee €175.47(with ECCE deduction) Fees are paid in equal monthly installments via direct debit. Monthly fee is €950 over 51weeks Afterschool Breakfast dinner and pick up also provided	10.5	5	52.5	223.53	175.47	05/08/2 024	31/08/2 025
4 Full Days Care with 4 ECCE	1y - 12y	ELC/SAC	Yes	07:30	18:00			Yes	Meal, Nappies/Wipe s	Weekly Fee €187.10(with ECCE deduction) Fees are paid in equal monthly installments via direct debit. Monthly fee is €850 over 51 weeks	10.5	4	42	200	187.1	05/08/2 024	31/08/2 025

3Full	1y - 12y	ELC/SAC	Yes	07:30	18:00	Ye	es	Meal,	Afterschool Breakfast dinner and pick up also provided Weekly Fee	10.5	3	31.5	152.94	127.14	05/08/2	31/08/2
Days Care with 3 ECCE								Nappies/Wipe s	€127.14(with ECCE deduction) Fees are paid in equal monthly installments via direct debit. Monthly fee is €650 over 51 weeks Afterschool Breakfast dinner and pick up also provided						024	025
3Full Days Care with 3 ECCE	1y - 12y		Yes	07:30	18:00	Ye		Meal, Nappies/Wipe s	Weekly Fee €74.24 (less ECCE deduction) Fees are paid in equal monthly installments via direct debit. Monthly fee is €480 over 51 weeks Afterschool Breakfast dinner and pick up also provided	10.5	2	21	112.94	74.24	05/08/2 024	31/08/2 025
ECCE	2y 8m - 4y	ELC	Yes	09:15	12:15	No	0			3	5	15	0	0	05/08/2 024	31/08/2 025
ECCE Sessional (No	2y 8m - 4y	ELC	No	09:15	12:15	No	0		Weekly Fee €70.00. Fees are paid in equal	3	5	15	70	0	05/08/2 024	31/08/2 025

capitatio n)										monthly installments vis direct debit. Monthly fee is €266 over 51 weeks							
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm, Second school pick up is 2:40 pm until 18:00 pm finish	5.83	5	29.15	136.84	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish	5.83	4	23.32	109.21	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish	5.83	3	17.49	81.58	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second	5.83	2	11.66	55.26	0	26/08/2 024	31/08/2 025

Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	school pick up is 2:40 pm until 18:00 pm finish Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish	5.83	1	5.83	28.42	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish Term Time Only (38 weeks)	5.83	5	29.15	125	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish Term Time Only (38 weeks)	5.83	4	23.32	100	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school	5.83	3	17.49	75	0	26/08/2 024	31/08/2 025

										pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish Term Time Only (38 weeks)							
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	12:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish Term Time Only (38 weeks)	6.83	2	13.66	50	0	26/08/2 024	31/08/2 025
Aftersch ool	4y - 12y	SAC	No	07:30	09:00	13:40	18:00	Yes	Meal	Breakfast club begins at 7.30-9:00 First school pick up is 1:40pm Second school pick up is 2:40 pm until 18:00 pm finish Term Time Only (38 weeks)	5.83	1	5.83	104.11	0	26/08/2 024	31/08/2 025

Fee Extras

Туре	Extras	Amount	Description	Additional Details/Conditions	Effective From	Effective To
Deposit		304.95	ECCE Sessional Class: For children who do not		12/08/2024	31/08/2025
			qualify for the ECCE scheme a deposit of €304.95 is			
			required.			

Deposit	276	ECCE Sessional Class: A deposit of €276 is required	12/08/2024	31/08/2025
		for children who qualify for the ECCE scheme and		
		start with Tigers Childcare , This will be refunded in		
		line with the ECCE guidelines.		
Discount		Staff discounts are granted at the discretion of the	12/08/2024	31/08/2025
		company. Discounts will vary depending on seniority		
		of the staff member.		
Deposit		A booking deposit for Early Years Services is €500	12/08/2024	31/08/2025
		and for School Age Services, including those based at		
		full-day care services is 100 % of the monthly fee.		